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Math 152 Sec S10NO1 - Test 2 Mar 2 2010

Question 1:

(a)[6 points] Determine the exact value of a, b, p, ¢, u and v in the following unit circle:

(»,9) |  a=eos(T) = _J?Z:
G (a,t) b = sin(%) = +~
b= cos(i)s mes () 7
(= sin() = 51 )
Y = cos(FF) = cos(F)= 5
(u,v) Ay = 5‘“(.”?). = -SW\C—;): ‘22:-7-:

7
[2 points] Convert —571 to degrees.

()25 )= )252°

If sinf = —5/13 where 0 is in the fourth quadrant, what is cot 6 .
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Question 2:

(a)[7 points] Carefully (and neatly!) sketch the graph of ¥ = —2sin(—3z + )+ 1. Show at
least one complete period, label your graph and indicate the scale on the axes:

s “,zsrw(-.?x+7j+| "’15'“(-3(X ))
= St%(?(%’ﬁ)> t1

Arl.“a, ‘ ' p
1T _ ;._W
N\ _ 2 > x
- —>x - A
-~} \j;- T2 \/{; ™

gtzzs{ydzx‘) 0, (g_,=,lSJ.vx<3(X,~—’—§~))
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(b)[3 points] State the period, amplitude and phase shift of the function graphed in part (a).
: —. T
:P m@f/( l - 23
) ithole = |2l = 2.

P\f\a&L Sl = "-'35
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Question 3:

(a)[4 points] Determine the area of the shaded region in the following figure (round your answer
to 2 decimals):

&= 3@0’0—2/’/0:— 35¢6°

G36°) (5p) = HLT vmtiod

)( 3’36 “')(3

"—C( 26.39 owL)

(b)[3 points] Given that cos ( 7 6) = b, find an expression involving b for cos <—-6—15§> ,

Cos —LST = 005(%% St'm.ce CoSive AS eueir

A
= CoS [ (YT -(——'C)
lo

i

cos (4w + I
=[&]

(c)[3 points] Simplify cos™ [cos (%)]

— cos (3F) = <os (§)

cos”' ms(%m)] = Cos-[cas(”—})]
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Question 4:

(a)[4 points] Determine the exact value of tan [cos 1 (——gﬂ
= OLG £

Lt o ws(3) so cos ()= F s

oo SEV\,Q:\)i-wS 9 J, (‘ )2" {zy—ﬁ.‘r_ %

S'WL,(B‘
coser

S teamo =

(b)[4 points] Simplify sec (sin™" z). Your answer should not contain any trigonometric or inverse

trigonometric function.

. ".‘ . _
LA & = Siw ‘X) S0 st =X )'——%é 95_/3:'
LJe oot sece = —L

cos &
A |
cos& = j—S!vg& = [— x?

4

— (
e SeC & = \F-x";

(c)[2 points] Determine the exact value of sin —13)
' ST - ‘ 31T Z7C
5WL<-TZ = Sin <'TT: T ==
= st (F+ T)
= S;V\(%\ 95 (’E‘) = GOS(%)&%,(%)
(=)(3) < (5)(3)
SENIES *(J’;’a *
33«
2)2
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Question 5:

4
(a)[4 points] Given that sin {cos‘1 5/ = g, determine the exact value of

cos {tan‘l (—1) +cos™? (—%)}
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(b)[3 points] Find all angles 0 < 6 < 27 for which cosd = 1/2.

gz T, 5T
3)3

NV

(c)[3 poinﬁs] Determine the exact value of sin (1°) + sin (2°) +sin (3°) + -
think of the unit circle)
Fov 0£G< |90,

LS () tSm(a) + tec S!"\(?:S"i"

go

w{ e (e EM@]
| ‘ | +..=+E$w\ Ww(lz\)—l +/<ﬁ/5;zp)

-+ +sin (359°) . (Hint:

Sw & + siw (300% &) =0
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